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Dagmar Pezzuto's Cluny Holiday Tree

STEP 1

1. Ring 3ds - 1ds - 1ds - 6ds - 1ds - 1ds - 3ds. cl
Make two split rings.

Split Ring 3ds - 1ds - 1ds - 3ds (left side)/ 3ds -
1ds - 1ds -31ds (right side.)

2. Split Ring 3ds +(join to last picot of 3rd ring)
3ds (right side)/ 6ds (left side.)
Split Ring 3ds - 3ds / 6ds, repeat this ring once.

CH 6ds and repeat 3 split rings joining across.

3. Ring 3ds - 1ds - 1ds - 3ds +(join to the 3rd
ring) 3ds - 1ds - 1ds - 3ds clr.

Make two split rings.

Split Ring 3ds - 1ds - 1ds - 3ds (left) / 3ds - 1ds -
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STEP 2
Split Ring 11ds (left side)/ 3ds - 1ds - 1ds - 3ds

Single shuttle chain: place space holder on chain, wrap 3ds - 1ds - 1ds - 3ds.

Split Ring 3ds - 1ds + (join to space reserved by space holder on the ssch) 1ds -

3ds (right side) / 11 ds.

Ring 14ds - 1ds - 1ds - 3.

Make two clunys tallies with 15 points.

Split Ring 3ds - 1ds - 1ds - 3ds / 11 ds bet. clunys.
Ring 14ds - 1ds - 1ds - 3.

Make two clunys tallies with 15 points.

Split Ring 3ds - 1ds - 1ds - 3ds / 11 ds bet. clunys.
Ring 14ds - 1ds - 1ds - 3.

Make two clunys tallies with 15 points.

Split Ring 3ds - 1ds - 1ds - 3ds / 11 ds bet. clunys.
Ring 14ds - 1ds - 1ds - 3.

Nea

R 11ds + (join to center picot of lower sr) 3ds - 1ds - 1ds - 3ds.
CH 3ds - 1ds - 1ds - 3ds +(join to the 2nd picot of last split ring.)

CH 3ds - 1ds - 1ds - 3ds.
Ring 3ds - 1ds - 1ds - 14 clr.

STEP 3

Split Ring 3ds - 1ds - 1ds - 3ds / 11ds.
Ring 3ds - 1ds - 1ds - 14ds clr.

Make two clunys tallies with 15 points.
Make a split ring between the cluny set.
Split ring 3ds - 1ds - 1ds - 3ds / 11ds.
Ring 3ds - 1ds - 1ds - 14ds clr.

Make two clunys tallies with 15 points.
Split ring 3ds - 1ds - 1ds - 3ds / 11ds.

Ring 3ds - 1ds + (join to lower ring middle picot)1ds - 14ds clr.



STEP 4

Split CH 3ds - 1ds - 1ds - 3ds + (join to the 2nd picot of the lower split ring.)
CH 3ds - 1ds - 1ds - 3ds + (join to the 2nd picot of the last split ring made)
CH 3ds - 1ds - 1ds - 3ds + (join to 2nd picot of the next to last ring.)

Step 5

Make two split rings.

Split RingSplit Ring 3ds - 1ds - 1ds - 3ds / 11ds.

Make two clunys tallies with 15 points.

Between the clunys make a self-closing mock ring throwing off a ring with three
picots.

SCMR 11ds + (join to the cluny) 3ds - 1ds, place space holder for future join,
continue with 6ds, throw off ring.

Ring 3ds --- 2ds --- 2ds --- 3ds clr, continue scmr 6 + (join to space reserved with

space holder) comtinue with 1ds - 3ds and close scmr.

Step 6

Split Ring 3ds - 1ds - 1ds - 3ds / 11ds.

Join to the last picot of the 2nd ring in previous row.

Finish tree with chains

CH 3ds - 1ds - 1ds - 3ds + (join to the 2nd picot of the previous ring.)

CH 3ds - 1ds - 1ds - 3ds + (join to the junction between the two rings of the 3rd

row).



